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Script including in test file (.../www/test/test.php)

<html>
<head:>

<meta http-equiv="Content-Type" content="text/html; charset=utf-8" />
<meta http-equiv="X-URA-Compatible"™ content="IE=8" /

<link rel="stylesheet" href="https://maxcdn.bootstrapcdn.com/bootstrap/3.3.0/css/bootstrap.min.css">
<script type="text/javascript" charset="utf8" src="http://ajax.aspnetcdn.com/ajax/jQuery/jguery-1.8.2.min.js"></script>
<script src="./js/voca/dist/voca.js"></script>

<titlertest</title>
<script type="text/javascript">

Vprintf call in test file (.../www/test/test.php)

function populate(item, index)

var shuffle=true;

var answWers=item[index].answers;

var answeskeys=Object.keys (answers);
if (shuffle) {answeskeys=answeskeys.sort (functicn () {return (Math.round(Math.random())-0.5);});}//1

Pt
h

S ("#guestions') .html('"):

,

.each (answeskeys, function (i, key)

0

var text=answers keyl.text;
if (answerskey] .behaviour=="dynamic'){
var terms-Object.values(answers key!.vars).sort(function () {return (Math.round (Math.random())-0.5);})

text=v.vprintf (text, terms):;

dy

'#questions') .prepend ("<input type='radio' name='radio' type='"+key+"'>"+text+"</input>");
'$questions') .prepend ("<br>")

S('#questions') .prepend ("<b>'+item[index] .questiont'</b><br>");




Data array in test file, then passed to javascript in json format (.../www/test/test.php)

Sitem[1] ["answers'] [2]=array () :

Sitem[1l] ['answers'] [2] ['behaviour']="dynamic";

Sitem[1] ['answers'] [2] ['vars']=array ('randoml', 'random2', 'random3', 'randomd');
Sitem[1] ['answers'] [2] ['text']="Risposta errata con variabile: %s";

Sitem[1l] ['answers'] [2] ['message']l=null;

Result in Chrome
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Risposta errata con variabile: random3
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Explorer output

Here comes the form
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Inspecting voca.js with debugger (keys method not supported)

> Le [ B, N O {&F 22 |5

026 B J&amp,; X 5 U538 )/e1,

2027 ""': /(&quot;) | (&#x0*22;) | (8#0+%34;)/gi,
2028 "Ut: /(8#x@%27;) | (&#0%39;) /gi,

2029 Ui /(&#x8%60;) | (2#0%96;) /gi

2030 };

2831 var characters = Object.keys{unescapeCharactersMap);

2032
2033

I
(function (glcobal, factory)
typeof exports === 'object' i& typeof module !== 'undefined' ? module.exports = factory/()
typeof define === 'function' && define.amd ? define(factory)
(global.v = factory()):
} (this, (function () { 'use strict';




First add
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if (!Object.keys)
Object.keys = function (obj)
var keys = []
for (var i in obj) |
if (obj.hasOwnProperty(i))
keys.push (i) ;

return keys;

(function (global, factory)

typeof exports === 'object' &i typeof module !== 'undefined' ? module.exports = factory()
typeof define === 'function' && define.amd ? define (factory)
(global.wv = factory()):

} (this, (functien () { 'use strict';

DOM Explorer  Console %1 Profiler Memorie
| 4 [;- [E) [?. ‘:: 4I}' ﬁﬂ ?2]

3942 } else {

3943 return result;
3944 i

3945 };

3946 }

3947

3948 Object.keys(functions).forEach(function (name) {

3949 ChainWrapper.prototype[name] = makeFunctionChainable(functions[name]);

() L'oggetto non supporta la proprietd o il metodo 'forEach’

3953 * Creates a chain object that wraps “subject”, enabling <irexplicit</i> chain sequences. <br/>
3954  * Use “v.prototype.value()” to unwrap the result.

3956  * @member0Of Chain
3957 * @since 1.0.6
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if (!Cbject.keys)
Object.keys = funetion (obj)
var keys = []
for (var i in obj)
if (obj.hasCOwnProperty(i))
keys.push (1) ;

feturn keys;

'Lrray.prototype. forEach)

Lrray.prototype. forEach = funection (fn, scope)

for(var i = 0, len = this.length; i < len; ++i)
fn.call (scope, this[i], i, this):

(function (global, factory)
typeof exports === 'object' &a& typeof module !== 'undefined’
&

module.exports = factory()

typeof define === 'function' && define.amd ? define(factory)
(global.v = factory());
} (this, (function () { 'use strict';

Reload and check next error (values method not supported)

DOM Explorer Console % 1 Debugger (11 osta interfaccia utente Profiler Memoria Emulazione

> Ge [ B, < O {3 2

- voca.js
e = BT, RV SN JCewd o noc array Rey

=]
4

$.each(answeskeys, function(i,key) {

95

96 var text=answers[key].text;

97

98 if(answers[key].behaviour=="dynamic" ){

99

108 rar terms=0Object.values(answers[key].vars).sort(function (){return (Math.round(Math.random())-8.5);});
() L oggetto non supporta la proprieta o il metodo ‘values’®

101 text=v.vprintf(text, terms);

102 Y/ /if dynamic

183

104 $("#questions').prepend("<input type='radio’ name='radio’' type='"+key+"'>"+text+"</input>");

185 (" #questions’).prepend(“<br:");

106

107 1);/ each

108

1@9

118 $('#questions‘E.Ereﬁendi'<b>'+item index .ﬁuestion+‘<fb><br>');




Add 3

if (!

rav.prototype. forEach)
ray.prototype. forEach = function(fn, scope)
for(var i = 0, len = this.length; i < len; ++i)

this[i], i, this):

fn.call(scope,

if (!Object.values)
Object.values = function (obj)
var res = [];
for (var i in cbj)
if (obj.hasOwnProperty(i))
res.push (obj[il);
return res;
(function (global, factory) |
typecf exports === 'object' &:& typeof module !== 'undefined’ module.exports
typecf define = 'function' && define.amd ? define(factory)
(global.v = factory());
} (this, (function () 'use strict';

factory ()

Reload and check next error (isArray method not supported)

1984 =*
E—

1970 for (var _len = arguments.length, replacements = Array(_len > 1 ? _len - 1 : 8), _key = 1; key < _len; _key++) {

1971 replacements[_key - 1] = arguments[_key];

1972 ¥

1973

1974 var boundReplacementMatch = match.bind(undefined, new ReplacementIndex(), replacements);

1975 return formatString.replace(REGEXP_CONVERSION_SPECIFICATION, boundReplacementMatch);

1976 }

1977

1978 function _toConfumableArray(arr) { if (Array.isArray(arr)) { for (var i = @, arr2 = Array(arr.length); i < arr.length; i++) { arr2[i] = arr[i]; } return ar
® L oggetto non supporta la proprietd o il metodo 'isArray’

1979

1988 /*+

1981 * Produces a string according to “format™ . Works exactly like <a href="#sprintf"><code>sprintf()</code></a>,

1982 * with the only difference that accepts the formatting arguments in an array ~values™.<br/>

1983 * See <a href="#sprintf-format">here</a> ~format™ string specifications.




Add 4

if (!Object.values)
Object.values = function (obj)
var res = ;
for (var i in ob])
if (obj.hasOwnProperty (i))
res.push(obj[i]);

return res;

if (!Array.iskrray)

ray.ishrray = function (item)

if (item instanceof Lrray) {return true;)
return false;

(function (glcbal, factory)

typeof exports === 'object' && typeof module !== 'undefined' ? module.exports = factory()
typeof define === 'function' && define.amd ? define(factory)
(global.v = factorv()):

} (this, (function () | 'use strict';

Reload and check next error (bind method not supported)

DOM Explorer  Console #1 Debugger (11 Rete Velocita di risposta interfaccia utente Profiler Memoria Emulazione
> Lo [5 2. < O & &2

1971 */
1972 function sprintf(format) {
1973 var formatString = coerceToString(format);

1974 if (formatString === "'} {

1975 return formatString;

1976 1

1977

1978 for (var _len = arguments.length, replacements = Array(_len > 1 ? _len - 1 : 8), _key = 1; _key < _len; _key++) {
1979 replacements[_key - 1] = arguments[_key];

1980 1

1981

1982 var boundReplacementMatch = match.bind(undefined, new ReplacementIndex(), replacements);

® L'oggetto non supporta la proprieta o il metodo 'bind’

1983 return formatString.replace(REGEXP_CONVERSION_SPECIFICATION, boundReplacementMatch);

1984 }

1985

1986 function _toConsumablefrray(arr) { if (Array.isArray(arr)) { for (var i = @, arr2 = Array(arr.length); i < arr.length; i++) { a
1987

1988 **
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if (!Function.prototype.bind)
Function.prototype.bind = function(oThis)
if (typeof this !== 'function')

throw new TypeError |

var ahrgs = Array.prototype.slice.call (arguments, 1),
fToBind = this,
fNoP = function() {1},
fBound = funection()
return fToBind.apply (this instanceof fNOP && oThis
? this
oThis,
akrgs.concat (Array.prototype.slice.call (arguments)));

fNOP .prototype = this. prototype:
fBound.prototype = new INCP();

return fBound;

(function (global, factory)

typeof exports === 'object' && typeof module !== 'undefined' ? module.exports = factory()
typeof define === 'function' && define.amd ? define (factory)
(global.wv = factoryl()):

' (this, (function () [ 'use strict':

Reload and check next error: here an error is thrown by the validate function

DOM Explorer  Console 1 Debugger (1t Rete Velocita di risposta interfaccia utente Profiler Memoria Emulazione
S Ge B B0 N @ &
- tryphp
1771  * @return {undefined
1772 ¥/

1773 function validate(index, replacementslLength, conversion) {
1774 if (isNil(conversieon.typeSpecifier)) {

1775 throw new Error('sprintf(): Unknown type specifier');

1776}

1777 if (index > replacementslength - 1) {

1778 throw new Error('sprintf(): Too few arguments');

1779}

1788 |if (index < @) {

1781 throw new Errer(’sprintf(): Argument number must be greater than zero');

® sprintf(): Argument number must be greater than zero
1782}
1783 }
1784
1785 /**
1786 * Return the replacement for regular expression match of the conversion specification.
1787 *




The validate function is called inside the match function using actualReplacementindex as argument.

function match (replacementIndex, replacements, conversionSpecification, percent, position, signSpecifier, paddingSpecifis

var conversion = new ConversionSpecification({
percent: percent,
signSpecifier: signSpecifier,
paddingspecifier: paddingSpecifier,
alignmentsSpecifier: alignmentSpecifier,
width: coerceToNumber (widthSpecifier, null),
precision: coerceToNumber (precisionSpecifier, null)
typeSpecifier: typeSpecifier

if (conversion.isPercentLiteral()

wvar actualReplacementIndex - replacementIndex.getIndexByPosition (position);
replacementIndex. incrementOnEmptyPosition (position)

validate (actualReplacementIndex, replacements.length, conversion);
return compute (replacements actualReplacementIndex], conversion);

The var actualReplacementindex contains value -1

function match (replacementIndex, replacements, conversionSpecification, percent, position, signSpecifier, paddingSpecifier, alignn|
var conversion = new ConversionSpecification({

percent: percent,

signSpecifier: signSpecifier,

paddingSpecifier: paddingSpecifier,

alignmentsSpecifier: alignmentSpecifier,

width: coerceToNumber (widthSpecifier, null),

precision: coerceToNumber (precisionSpecifier, null),

typeSpecifier: typeSpecifier

if (conversion.isPercentLiteral())
return conversionSpecification.s

var actualReplacementIndex = replacementIndex.getIndexByPosition (position)
replacementIndex.incrementOnEmptyPosition (position

al - (actualReplacementIndex

wvalidate (actualReplacementIndex, replacements.length, conversion):
return compute (replacementsactualReplacementIndex], conversion

ISP
O risposta errata
P

(U risposta esatta
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The var actualReplacementindex is defined here

*

ReplacementIndex.prototype.getIndexByPosition = function (position)
return isNil (position) ? this.index : position - 1:

T =

¥

var TYPE INTEGER = 'i':’

(1]
[
L e
(1]

The position argument contains nothing (not null nor undefined) and it is passed to the isNil function

EeplacementIndex.prototype.getIndexByPosition = function (position)

t (position) ;

return isNil (position) ? this.index : position - 1;

v O Cerca.

e - .
N@ nttp://test/try.php

2 test
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The isNil function returns true only if the argument is null or undefined

Ifuﬁction isNil (value
return value === undefined value === null;
Adding the case nothing (empty string)...
function isNil (ve
return value unde fined lue === null value === "'
...then the substitution works
. -
I (2 test
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